T&T6 1.3 Factorising September 03, 2014

Algebra 1

Section 1.3 Factorising algebraic expressions
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T at-br = (a-b)(ath)

| ) Differevce of 2 cukes (pote)
L a6 = (a-6)(aT tab +Hb*
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( Q) Sum of 2 cukes ((S.e:T.C)
2+ = (atb)(a*—ab +b)




T&T6 1.3 Factorising September 03, 2014

( Example 4 )

Factorise (1) a® + 8b3 (i1) 64¢* — 12543

() | Suwmof 2 eukas ANy l
oy’ = (xr-xy 1) a3+ 8 - (a Ta)@ —E1HA)

L - (a+aX(a? - 20k +417)
X =0

) =43
§ =
(D Differoce 2 cokes

a-Lb*= (a Yatvabtlt)| L43- 12503 = (he— S0V + 6 + (<)
a®= blc®

ek = (Ye-So )(Ibct +20eo +247)
" 4e

b3 = 1253
b = St
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